-+
=
Q
=
(4]
bo
[y}
=
[2+]

=

4=
o]
w
oW
<

CHEGINIR BIAEXIAR

= 2249 HASZ9

UNE= I

StoZII0 O e MECH 250l

= 6 2Hol CHAl dIEHE 2WE=ELICH

£ BUHEE

239 63 2EdlIt

o)

s

=5t

A

o=z

X
o

AMEELILCH

!

A0

Ol

<0

R)
R0

-
1o

0

I+

=0
1o
0

—_

]

3
of

30

OH

FoF U=

C|
(=]

ol
010

o)

LICH.

s
=

=3

c

Ul
30
all

o
o

010

0

o=
—_ o

AEQ

101026&0 O

=, =dig

=
=2

o
=

A
e

(]

+29~31%

b 12t o

c

HE
JI€ 2 0told

o=
o —

O 2= HHAEZS

o3
]

03

1o

MHr

ol
[l

3+
I

tol =2

o)

KA

101 M

2) 2249

tOl 12,

il

Mot HAES DI

=

2o 2

0t

& 10,

Kl

==

<l
<l

ol
U

00

0J

.
110

OH
mJ

oL
3

-

Kr

00

F

B
9)

-

dr
J

Ol

[
B

i
il

Al

0 E0A EEDNXS 2RW E el JHele] MEs HEo

LICt.

s
=

T

S

=2
=

o
<D

Rr
%0
ol
H
i

oyl

st

clAXIDOL 25

Of CHet

el A XI Dt

st

HEI NS0

NS LICH

1o

ZME ol OF2*

=
U
1l
oK

.

K

o0

HZ X0l 238 3F0= 20

1R 2 = U=

=

wd

b

)

S0 o F0

4

0

<
o

00
70
JUJ

iy

0

I

LIC}.

o 8 H0lct €5

= HAE

P

¢

i

X
(i3

B
el et=1t 0I=0A 2lAXlot) 2L

J

)

3

o

-

ol

J
¢}

e

]

Page 1 of 2




-+
=
Q
=
(4]
bo
[y}
=
[2+]

=

4=
o]
w
oW
<

4270 NE= &Eo Lt

|I‘|O|
=

HelAdX

0

=2 =
= S

0l

o
uln

0l

=}

[

-~

KO0

fall

—_

oJ

0L

K

OtLlct Xt

CE]
T'__Du_l'

X
012401 J1€0l, SX0[4,

o
g

A, el

)

| AFRLICH.

Ol X+ BHE

SLICH

=3

01010t

-

o} 2l
— T

£, Jdefuh =8t

As 0tSe

o

_l

>

ulJ

(]
et

i
H

1]
ol
<+

J|J
e}
00

O A
T—o

o=z

-

O} X &
— O T

20,

=Zciel HAES

J12+2]

2490l 2349 el 2

E XH(Cause-Effect D &)

=4

pS|
=

=
=

XHOFOICIOF

i0J
1l
<

TH
34
oF

_)l_
o
0]

e

ol
ol

A& ZHO0F Lz 68 SLICH

3

ioJ

Al

sy
Bl

HOUtMl 2 X0IM = oiHlES2 20~25% DI2tez A

10

deld, o

ol

oll
ol
1]

w
I

SotHl, SRE0 IS SXO0L0ICIN Sl el il O olafe T

g LICH

~

=
n

~

1o

1o
un

~
110

Mr

]
=)
X0
00
0H

—_

JJ

B

0l

T
10
nJ

KD
fulJ

Old2H XI=NWtAl, =t

ol
__.Ao

Ju
<l

3

-

n

J
5

Kl
i

HOll &=

clAsU

HEAM dE CHAl &

24
=

o
—

=
=

1

o 608 =

off A=

Sk
S

=2
=

101026&0 Again

Page 2 of 2




